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Soviet’s New Working Week

A historian investigates how Stalin changed the
calendar to keep the Soviet people continually
work.
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“There are no fortresses that Bolsheviks cannot
storm.” With these words, Stalin expressed the
dynamic self-confidence of the Soviet Union’s
Five Year Plan: weak and backward Russia was
to turn overnight into a powerful modern
industrial country. Between 1928 and 1932,
production of coal, iron and steel increased at a
fantastic rate, and new industrial cities sprang
up, along with the world’s biggest dam.
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Between 1928 and 1932, only State
supreme controlled by Stalin remained
and ..., vanished.

) A industrial proletariat
B collecting farming

'C ) new industrial cities

private enterprise

AT

Keywords: 1928, 1932, State supreme, Stalin
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@ private enterprise

AT

> Keywords: 1928, 1932, State supreme, Stalin

JR3C: 1ESXCAEE Private enterprise disappeared in
city and country, leaving the State supreme
under the dictatorship of Stalin.

¥ MARVHEMREBEIHEET, ILBIER
F B LR FER R B AR AR IR S
A\ o

figtr: FIET=ASEEIEZIR. EE:
vanished=disappeared; controlled
by=under the dictatorship of;
remained=leaving.
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Questions 2 2/10

To maximise workers’ productivity,
) Frederick Winslow Taylor had invented
approaches of .................... :

‘A efficient robot-like
B assembly line

C capitalist models

@ stream-lining effort

i
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Keywords: Frederick Winslow Taylor

JR3:

EIE

il AT -

Xt & 1E SLBEE Lenin had already been
intrigued by the ideas of the American
Frederick Winslow Taylor (1856-1915),
whose time-motion studies had discovered
ways of stream-lining effort so that every
worker could produce the maximum.

FIFHEXSH, SL%ETEEEREZ
RZEH) (1856-1915) MBL. FEERK

B EBEMRELZIMT , MRAKEIENREBILE

NPl o} - 7, 8

JERL: To=so that; maximise= maximum;
productivity=produce;
invented=discovered,; approaches=

ways. EHRILE FIRSHE RFHA, 2
BRI Fo
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Questions 3 3/10
A, could enable factories open

day and night.

A extra hour off

@ three-shift system

C ) shorter day

D day and night

AT
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AT

Keywords: day and night

JR3: XN IEXCEE .. by establishing a three-shift
system. This meant that the factories were
open day and night and that many had to
work at highly undesirable hours.

#E: L B — P =PRI R X TERR
A, I HetERAFHAT, MEZH
TAFHEIEES AR B LT

AT ZEEEThisiIER . JERmeant=could
enablefy[&] X F&iX

Questions 4 4/10
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.................... proposed a plan to keep the
machines operating every day.

@ Yuri Larin

B Lenin

C Henry Ford

D Frederick Winslow Taylor

2y
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Keywords: machines operating every day

R X IEXDEE Hardly had that policy been
announced, though, than Yuri Larin, who
had been a close associate of Lenin and
architect of his radical economic policy,
came up with an idea for even greater
efficiency. Workers were free and plants
were closed on Sundays. Why not abolish

that wasted day by instituting a continuous
work week so that the machines could

operate to their full capacity every day of
the week?

BE: XPBERNIRIE AR, Yuri Larin—— 5T #
—BRE, —PRHEF BRI SESE
MERE T — 1N ENSREE. AT, T
ABBAEYE, T MAStHFELETIE
o N ATREIXLE ST EIER H-FF) i
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CHIVITIIVY., VVUINTIO VWTIT 11TT Al iu pial 1Lo

were closed on Sundays. Why not abolish
that wasted day by instituting a continuous
work week so that the machines could

operate to their full capacity every day of
the week?

B XANBERRIRIES, Yur Larin——%THY
—BRE, —PRHEFBUERSHIESE
MERE T — 1N ENSRAEE. PART, T
ABBARLEHE, T Iyt ELETIE
o N ATREIXLE T RN B -FF) i
K, BN ESRA 8 i Y T 1E B HAVE?
XA, MIZSPiAE H RN FHIz: T, iK%
)R E FHRIBER -

fRAT:  {F4mIERR: ...proposed a plan®“.. 28—
TR, BEREREBEH—PANETF. F
. proposed a plan=came up with an
ideao
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Questions 5 5/10

.................... was used to help workers to
remember the rotation of their free days.

A new five-day week

@ Colour-coding

") uninterrupted work week

D) mnemonic device

a7 4
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AT

Keywords: remember, free days

R ¥R IEEEE Colour-coding was a valuable
mnemonic device, since worker might have
trouble remembering what their day off was
going to be, for it would change every.
week.

¥ BHeFRCETEERNENBICIRE,
ANE P AEABRRICHEB S NREEHE 5],
NEFEEBAIREE L.

gt IR help=valuable; free days=day off;
rotation=change every week., &%
Colour-coding (/NECHXY)
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Questions 6 6/10

Authority acclaimed that the new scheme
would ..........cceeneen, production and
> employment.

A improve

@ Increase

C) benefit

(D) cram

AT
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Keywords: Authority, production and employment

JR3:

EE

fRAT :

Xt B 1FE X FE& Official propaganda touted
the material and cultural benefits of the new
scheme. Workers would get more rest;
production and employment would
increase (for more workers would be
needed to keep the factories running
continuously)...

BB T BB EX 6 E AT R
IR Ak ERIEFRL. T AMTATLASRIGE
ZHRERE, FaNERREES (B
NBEBZHNTARFRIEL EH¥E)

JER . Authority=official;

acclaimed=nronaaanda (5. 551
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Keywords: Authority, production and employment

JR3:

EE:

R :

X R IE XFE% Official propaganda touted
the material and cultural benefits of the new
scheme. Workers would get more rest;
production and employment would
increase (for more workers would be
needed to keep the factories running
continuously)...

BB T BB EX 6 E AT R
IR FIX L LR EFaL. T ANTRIEAIRIGEE
ZHRERE, FaNERREES (B
NBEBZHNTARFRIEL EHE)

SER . Authority=official;

acclaimed=propaganda (Ef%, Ef%iz

&) , touted (FE) .
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Questions 7 7/10

.................... and .................... were the
biggest risks to the Soviet regime.

A shopping and theatre
B I narrow family and shopping

() rationally employed (and) cultural
activities

Organized religion (and) the
nuclear family
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Keywords: and, biggest risks

JR3:

EE:

fRAT :

Xf M 1E 3CFEE In fact, the regime had long
wanted to weaken or sideline the two
greatest potential threats to its total
dominance: organised religion and the
nuclear family.

SERR_E, ZBUXE A8 HI 55 FH R R IX 7 Fh
RERDHE S MNEREBER: R
HAFZ DR E

S¥# . and=two; biggest risks=greatest
potential threats &% : organised religion,
the nuclear family (JIRfF %)

Questions 8 8/10
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.................... were the most resistant force
> to the new work week.

A managers

@ Workers

C family schedules

‘D) factories

2 AT
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Keywords: most resistant force

JR3C: RN IESCGEE By then, though, problems
were becoming obvious. Most serious
(though never officially admitted), the
workers hated it.

¥ REWLL, TR, [0k T
7. HXTENEENE (BRREAFIE
FIART) TAfIRE.

i@t SER: hated=most resistant (#EH|— 5
A A AR EZ . NER. BEEZ
most R 2 1EIR)  GEREEHEFHN
THEBIRE2e T AER T2 ANME, workers
hated it@ZEH /Lo BELEEN
resistant, 37 L@ Inuclear familiesk
FHfamiles, ERLAR. A Aworkers!§R
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Keywords: most resistant force

JR3:

E:

R :

X IE X GE& By then, though, problems
were becoming obvious. Most serious
(though never officially admitted), the
workers hated it.

RELL, FAPRY, [0 @ml=ikKiskeE 2
7. HTENEENE (BRREAFIE
FIAR]) TAfMRE.

JER: hated=most resistant (#EH|—
AT A AREES . AER. BR8N
mostRINFLEMIR) « GEREAHEIFTHY
THEBIRE2e T AER T2 ANME, workers
hated it/1ZEH e BELEEN
resistant, A7 L@ fInuclear familiesk
FHfamiles, tERLAR. A Aworkers|@R
XPNLTEGIFERERE, thEE T fih
MNEBHNREEE.
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Questions 9 9/10

Workers had to do unfamiliar job and
sometimes caused failure of ..........c......... .

‘A responsibility
‘B productions
C complicated rotation system

@ machines

AT
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Keywords: unfamiliar job, failure

JR3:

EE

AT :

X & IE XHEE Machines, no longer
consistently in the hands of people who
knew how to tend them, were often poorly
maintained or even proken.

Mg, MARIWREEMBENNAFE
T, HFEBESAEZELEEZ, BEYIF
?‘i?o

JERL: workers=people; unfamiliar=no
longer, knew how; failure=broken.

Questions 10 10/10



SIM & = 12:09 @ 100% @@= 4

B - ]

Questions 9 9/10

longer, knew how; failure=broken.

Questions 10 10/10

In 1931, Stalin described the outcome of
new work scheme asthe .................... .

0 depersonalized labour

‘B traditional methods
'C) continuous schedule
D hasty application

& Lr
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2y

Keywords: 1931, Stalin

JR3C: IFRZIESCIEE As a result, the new week
started to lose ground. Stalin’s speech of
June 1931, which criticised the
“depersonalised labour” its too hasty.
application had brought, marked the

beginning of the end.

BF: 4R, XPERIIESF RS ERMT .
Hr KMRFE1931F6 BRUBHEAR, #HE¥IHE
KM R REAMNT B, XK
TERZ LESI R 45 SRV EIK o

fiRdT: TR ZAERELEERMRX
FR—NEIEMA: .. .the “depersonalised

labour” (that) its too hasty application had
brouaht.. #i¥ R HI 62 B 2 5L fir
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#E:

AT -

June 1931, which criticised the
“depersonalised labour” its too hasty.
application had brought, marked the

beginning of the end.

ZGR, XD TIES R ERT .
HTAMIE1931F6 HPHER, #HAHE
RELTEATHE R KREAMENTT D", XX
a1 ARSI H m 45 R AEIK o

TR R ZHE R HE SR B AR
FR—NEIEMA: .. .the “depersonalised
labour” (that) its too hasty application had
brought... #iF¥H: HIFE{eERLERH
HRAEREAMNT . MBEZE: HiK
Moutcomediiid B t4, outcome=had
brought; HSEBEED)HERTHA, &R
47, #EBbroughtf 2=iE 2 172 W
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